Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN ‘ 17CS63
Time: 3 his.
Note: Answer any FIVE full questionsf Ehoosing ONE full question frohz each module.
1 a. Explain SIC/XE Architecture in detail. (08 Marks)
b. Briefly discuss data structure and pass 1 algorithm of SIC/XE assembler. (08 Marks)
c. List out the difference betwaen system software and apphcatlon software. (04 Marks)
OR
2 a Dlscuss SIC Machine Architecture. ¢ (08 Marks)
b. \‘am to copy the string “Hello World” from STR1 to another string STR2.
‘ " (06 Marks)
c. Explain various instruction formats used in SIC/XE machine. (06 Marks)
N Module-z LLLLLL
3 a. Whatare the basic functions of a loader? Explain two ways of program relocation in loaders.
(08 Marks)
b. Listand discuss various machme independent loadér feature. by, (06 Marks)
¢. Write a note on MS—DOS _in (06 Marks)
OR ;
4 a. Differentiate betw "'cn a linking loader and linkages editor Wlth the help of suitable diagram.
, (08 Marks)
b. What is loader? What are the basic functions the loader has to perform? (04 Marks)
c. With ﬁgure explain dynamic hnkmg Discuss its advantages. (08 Marks)
v ~Module-3
5 a. With aneat dlagram explaimn the'different phases of the compiler. (08 Marks)
b. How.input-buffering is unplemented" (08 Marks)
e. Aleferentlate between compller and mterpreter (04 Marks)
L R’
6 a. Define Token, Pattern, Lexemes with examples. (04 Marks)
b. Construct transition diagram to recognize the tokens of (i) Identifier  (ii) Relational
operator  (iii) Unsigned number? - (06 Marks)
c. Explain different phases of compiler by taking input “Position = initial + rate + 60”.
' (10 Marks)
Vo Module-4
7 a. What is meant by handle prunmg7 How it helps on shift reduce parsing? With example list
the action of shift-Reduce parser. (08 Marks)
b. List the role of Earser Explain different error recovery strategies. (06 Marks)
c. Construct LL(1) Parsing table for the following production:
E->E+TT#
T—>T=*FF
F — (E)jid (06 Marks)
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OR

A — Ac|Sd|e (04 Marks)
Construct canonical LR(1) items for an augrnented grammar.

S'—>S 4

S — Cc

C —cCld (08 Marks)
What is Shift-Reduce parser? Explam the conflicts that may occur during shift reduce
parsmg - (04 Marks)

What is left factoring? Rewrite thc following grammar after removmg left factoring.
S —» iEts | iEtSeS |a , A

E—>b (04 Marks)

/ Module-5
Write annotated parse tree and its syntax dlrected definition to obtain 1 * 2 * 3 * (4 + 5)n for
the grammar. @

L - En A

E->E+T|T

To>T% F pE ,

F — (EY| digit Woinay (08 Marks)
Discuss the issue in the design of codc generator. (06 Marks)
Discuss S-attribute and L- %ﬁrrbute SDD. (06 Marks)

(1) Quadruples
(i) Triples ©
(iii) Indirect triple (06 Marks)
Obtain the directed acychc graph for expression x + X * (y +z)+(y+z)*w. (06 Marks)
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